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FIGURE SORT (2 duy Assionmet)

Write the number of each of the eight figures below in _
the appropriate region of each diagram. S i 3 3/ ‘f
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the Crash Dummys Last W

For each set of exercises, there is one extra
answer. Write the letter of this answer in

the corresponding box at the right.

10

215 8

w7

In Sets 1-3, write each percent as a fraction in lowest terms,

i o T e 1 ® e 43 | - ®
! 50 2 ioo| * 3
| 2. 40% @ g |& 75% 3 a. 62%
20 4
(b, 55% 9 | b. 88% 19 | b. 150%
?ifi 5 D50
[ c. 2% A2 | 6. 30% Y22 | . 225%
c. 2% o c b . = c o
4. 38% AL |4 43% 3 1d. 7%
In Sets 4-6, write each fraction as a percent.
aae 88% 050 125% eSe
§ 100 (M) 96% a5 ) 5% & 200
P 5 3
7 20 (H)35% | * 2 (©) 60% | - 300
. 33 17 75
¢ 50 @ 66% | ¢ 1p @ 17% | © 305
[ 24 i 5
4 55 (0 19% |d. 55 (1) 170%, d. 3
In Sets 7-9, write each decimal as a percent.
a?e ®4‘4(% e 83 @3000/0 090
|2 041 sas | 2 075 a0, | 2 0:038
b. 0.08 ago, | P 0.3 7.5% 1 b. 3.8
§ 0041 © 9% |c 0075 (1) 75% | o. 0.05
14.09 &)0.9% 4, 0.03 (@ 30% | 4. 0.005
In Sets 10-12, write each percent as a decimal.
10 o.0e6| *1° @ o002| “12°
) o . . ) . =0
a. 66% 6.6 a. 37.5% @ 0.375| 2 85 %
b. 40% @ 0.04 | 2% 0.02 | b. 400%
fc. 6.6% 04 |c. 0.2% 02 |c 110%
§ 4. 1% (0866 | 4 375% 875 14. 0.4%

PUNCHLINE < Bridgs to Algebra

©2001 Marcy Mathworks

e 292 ¢

Ratio, Proportion, and Percent:
Relating Fraciions, Decimals, and Percents




Choose the correct answer for each exercise and circle the letter pair next
to it. Write the upper case letter in the box containing the lower case letter.

in Exercises 1-2, choose the number that is written In scientific notation,

b 1.23 x 105  @EE® 0.123 x 10°

in Exercises 3-6, find the value of n.

3. 72,000,000 = 7.2 x 10"

4, 33,300.000,000 = 3.33 x 10%
5. 0.00008 = 8 x 10"

&. 0.00000000625 = 6.25 x 10"

In Exercises 7-12, write the number in decimol form,
7.49 x 10°

8.4.9 x 1075
9. 4.90 x 10¢
10. 8.75 x 10°
N. 8.75 x 1072
12. 8.75 x 1077

13. 34,000 i 3.4 x 107 e 3.4 x 106
14. 3,400.000.000 3¢ 3.4 x 1077 ® 3.4 x 10°
15. 0.0000034 e 3.4 x 104 3 3.4 x 1010

B 9,22 x 108
B 022 x 1077
® 0922 x 1079

D 9.22 x 107
D 0.92 x 109
52 092 x 108

16. 92,200,000
17. 0.00922
18. 0.0000000922

R 1.66 x 104
2 1.66 % 1010
B 55 x 1078

AP 1.66 x 10°
§ 1.66 x 107

19. 16.6 x 103
20. 0.166 x 108
21. 0.55 % 10
22. 55 x 10712 9 5.5 x 1075

C;b!cgdge[fg tuvwx%y}z‘ R
i/
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Coordinate Picture

Name: Date:

l@’ There is a picture hidden in this grid. Connect the points with lines to reveal it.

'y
<

- M W B N O ~ O W

ST S "R USSR

]
o

-10

Line 1: (1,9, (1,7, (2.,7), (3,8, (2,9, (1,9 Line2: (0,-3), (0,-2), (-1,-1), (-2,-1),
(-3,-2) Line3: (-1,-2), (-2,-2), (-2,-5), (~1,-3), (-1,-2) Line4: (3,4), (4,4), (5,3),
(5,2), (4,3, (3,3), (3,4 Line5: (0,7, (-1,6), (0,5, (1,6), (0,7) Line6:(-2,9),
(-1,9), (-1,7, (-2,7), (-3,8), (-2,9) Line7:(-3,5), (-2,4), (-2,3), (-3,2) Line8:
2,-1, 3,2), (4,2), (5,0, (5,-2), (4,-3), (4,-5), (5,-5), (5,-4), (6,-4), (6,-5),
(7,-5), (7,-3), (6,-2), (6,3), (4,5, (2,5, (2,6), (3,6), (4,7), (4,9, (3,10),
(-3,10, (-4,9, (-4,7), (-3,6), (-2,6), (-2,5), (-4,5), (-6,3), (-6,-2), (-7,-3),
(-7,-5), (-6,-5), (-6,-4), (-5,-4), (~5,-5), (-4,-5), (-4,-3), (-5,-2), (-5,0), (-4,2),
(-3,2), (-2,-1) Line9: (-4,4), (-3,4), (-3,3), (-4,3), (-5,2), (-5,3), (-4,4) Line10:
(2,-2), (1,-2), (1,-3), @2,-5), (2,-2) Line11:(3,-2), (3,-7), (4,-7), (5,-8), (5,-10),
a,-10), (1,-5), (0,-3), (-1,-5), (-1,-10), (-5,-10), (-5,-8), (-4,-7), (~-3,-7), (-3,-2)
Line 12: (0,3, (1,2), (1,1, (0,0), (-1,1), (-1,2), (0,3) Line13:(3,5), (2,4), (2,3),
(3,2) Line14: (0,-2), (1,-1), (2,-1), (3,-2)

Caopyright ®2014 WorksheetWorks.com



gz aansod 01-

W €1 2amsod g
0 g ‘aanedou -
6 ‘aanisod -

% ¥ ‘oanefou 0

wiodpusy wbuaT ‘uondang uod Bunielg

*mollie |oes jo Juodpus ayl Buiam

Ag 3jqe) au) 9)3|dwon -auy) JAQUINU SY}
uo umelp smoute jo yibus| pue ‘uoyoalp
‘surod Bujisels oy sealb mojaq s|qe} ay L

&(€-)~ 10 0 'sS3T st yorm )
$81 10 |0g—| 'ssaf st yorum @)
Lp— 10 g1 — '$S9[ ST YoTUyMm Q
46 10 11— ‘12718213 ST UOIym @
$9— 10 /— ‘1218213 ST Yorym @

LE 1~ 10 g ‘193E218 ST YORIM e
‘uolysanb yoeas 1oy Jebojut ue Sy

gi-=x7 |x|- €)
cl-=xp x|
ls1-1- @
l6!- €9

it - 911
8+ 21)- G

91— = u pu- @)
uu- @)
sl €
-1 €
ri-- €
L1)-

‘uo|ssaldxe yoea
40} 18b8ju; ue sy

1l

91

11— Jo aysoddo ay )
19491 ©2S mojaq W 61 Y
umop 1ooy auo ¢y
spunod ua) jo ssof e )
JIOYY I193JB SPUOIIS IN0J @
premypeq sdois ¥ @
0Z$ Jo ysodap & (§)
015z 10139 .G @

pA g jo mes e @

]2A3] B3S 2A0QE ) G e
g Jjo ayisoddo sy 0

0 30 Y31 33 0} syun ¢ €Y

‘uonen)s
yoso 103 1abaju) ue alap

0g-

W:.E_amn.mﬁpmw::..ﬁ&::uﬁ u%amummﬁuxumﬁmot_uﬁn_n;uuntguumﬂz_mﬁo@
spuodsa.too 124 sul raquinu ayg uo quiod syl puiy FSIDIaX9 yoea oy 1abagul ue 29um

&SITIRd 03 Soyojemdols IIoY ],

sunxg sfemiy sort13 o@ Aym

(

Integers and Exprassions:
Integers on tha Number Lina
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LETTER PUZZLE (I) ®

Compare the puzzle pieces with the lettered ones in the puzzle.
Write the correct letter on each piece.

3
o
"
8
if?
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s How Did Betsy Ross Know What Colors People

= \ Really Wanted for the New National Banner?

Simplify each expression. Fartner A should do the left side and Partner B the

right side. After completing each set. find matching answers, One will have a letter and the

other a number. Write the letter in the matching numbered box at

the bottom of the page.

. 2y + S5(x + 4)

+ B6x

Ox + 8 + 3{x + y)

J10 + 3(2 + 9 + 12(x + y)

d{x+ Yy +y+ 2y + 5+ 6x

15.
3.

5.

C3(x4+ Yy +y+ 8y + 2)+ 12x

5

3y + 4{x + 2) + 8x
3x+ 10+ 7(x+ v

11 +9(1 + ) + 2(x + y)

SET 2

X » 0O

wn

LA + Tn 4+ B2 +9n + 8
B +n+15+3r +12n+ 5
10+ 3n+ n? + 8n+ 9nf + 2n

.5n+ 84+ 42 +4n+ 1+ 62 + n

Ip'n

. 52w + 3) + 6w

3 +n+4+ 7 +9N+5
.20+ 8n+n%2 +3n+8n% + 2n

LI0ON+ 7 +5m2 +5n+ 1+ 42 +n

8 + 4n + 2r + 9n + 10

SET3

W+ 47w + 1) + 24

. 2(6w + 5) + 92w + 2) 16. 92w + 8} + 4(3w + 5)
L. 10(8 + w) + 11w + 3(4 + 3w) 6
SET 4 |
G. 9 + 2 + 6a+ 7a + a 10
T. 5 + 9ab + 4B + 5a? + b2 13
L. 6ad + a2 + B5a + 2a® + 4a? + 3a 12
P. 2a? + 8ab + 3b* + 62 + ab + 4b2 4.

. 73w + 4) + 9w

B3+ w) + 3w + 54w + 2)

w+ 3(Bw+ 1) + 12

.8a3+3a2+72a2+a
. 42 + 9ab + 6P + 4a® + B2

L 2@ + a? + Sa+ 7@ + 8a% + 2a

3a% + 8ab + 3b%2 + 7 + ab + 2b°

.g,*,;***.;*****;***
L12 [ 13 | 14| 15 | 16
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Expressions, Equallons, and Inequalities:
Simplifying by Adding Like Terms
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Directions: Use the numbers 0~ 3 in the ks 1o make the equations frue,
ou may only use each number once!ts

1 10=] |+] ]=3=1

2. + 347~ =6

W

16 -2+ -6 =

=

12+ |+3-5=

3,

~4 +9 — =4
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An{' Conﬁised? i

255 : w
£ Fill in each blank with one of the choices to the right. The circled letter to
L1 the left of each blank goes in the box containing the number of the answer.

The Coordinate Plane

@ The plane has two number lines that intersect _______  eroon
ST RN,

@ at a point called the . The horizontal number 15. origin X

@ line is called the . The vertical number line is 1. x-coordinate

€D called the . The two axes divide the coordinate 23- nizgi;ptts

0 plane into four parts called . The location of a 6. goordmate

@ point in the coordinate plane is given: using an 17. y-coordinate
. 26. x-axis

@ of numbers. The first number is the . The 29, ordered pair

@ second number is the . Label the origin, axes, 7. graph

and quadrants in the figure at the top of the answer column. '

Equations in Two Variables
For an equation with two variables, x and y. a pair of values
@ (x.y) that make the equation true is a called a

AN e R A e A
T

e of the equation. Each solution is an . The 11. slope
€ value of x is written : the value of y is written % i*gfsj?ite
@ . Each solution can be represented as a 5: point

‘0 in the coordinate plane. The set of all points 13. solution
. . 2, points
@ representing solutions is called the of the 18, number
@ equation. An equation in two variables has an 3. ordered pair

t 16. graph

s

number of solutions, so there is an infinite number of
@ in the graph.

Linear Equations in Two Variables
If the graph of an equation in two variables is a straight line,

€D the equation is a equation. Every solution 21.(3.11)

@ can be represented by a on the line. For Zg ?g lig)
example, the equation y = 2x + 5 is a linear equation because 12. line

its graph is a . One solution of this equation is 12 gt?srcep ¢

R . 2x+ 3y = 90 is a linear equation because its 20. linear

@ is a line, In a linear equation, the highest

0 power of either variable is the power.

213141516 |718 9 10111213|14[15{16;17(18(19/20{21:22/23|24|25]26
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Find the slope and intercepts for each line.

V Ay MWt
e _
< 2 - X
e C. \\ /
P * \\
¥ ¥ !‘f
1. slope 4. slope 7. slope
2. x-intercept 5. x-intercept 8. x-intercept
3. y-intercept 6. y-intercept 9. y-intercept
Answer the questions for each graph. Be sure to include a unit of measurement with each answer.
4  Money Saved 4 Distance from Home 4  Tree Growih
400 200 12
£ 300 £ B0 £e
0
g 200 g 100 \\ z
b 43 © 4
it G N
100 2 50 N T
O = \)— o 2
0 2 % 6 B 9 Tz 3 5 o 4 & 12
Time (mo) Time (1) Titne (yr)
10. How much money had 12. What was the distance 14. What was the height
been saved at time 07 from home at time 07 of the tree at time 07
11. What was the rate of 13. What was the rate of 15. What was the rate of
saving ($/mo)? speed (mph)? growth (ft/yr)?
4 Elevation and Temperature A Vacation Travels
500
& % 400
I N 3 ~
£ % ¥ 300 ——
3 N £ —
R > 2 200 -
2 9 5 10 W\ 22 2B 2
—20% 100
Elevation {x 1000 £t}
16. What was the lemperature at T2 B 4 5 & 7 & 9
sea level? At 20,000 ft? Time (h}
17. iﬁ:ﬁéit [I;gt/elggigtgf?temperature 20. What was the rate of speed from O to 3 h?
18. At about what elevation was the 21, What was the rate of speed from 3 to 4 h?
temperature 0°F? 22. What was the rate of speed from 4 to 9 h?
19. What would the temperature be 23. What was the overall average rate of speed
cutside a jet flying at 40,000 ft? (total distance divided by total time)?
PUNCHLINE « Bridge to Algebra Functions and Linear Equations and inegualities:
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